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AP Calculus AB K E \?

Review Unit #1: Limits & Continuity

Multiple-Choice Part 1: Non-Calculator (22 minutes)

1) Given constants a, b, & ¢, and a < b < ¢, and function f'is continuous on the closed interval [a, c]

which of the following must be equal?

L linﬂ f(x) 1L li:(?+ f(x) L. 7(b)
A) I&Ilonly B) II&lIllonly (C) I, &Ilonly
(D) Jall of them must be equal (E) none of them must be equal.
Inx for 0<x<2 i z
) If f(0) = then lim £(x) = In2 # 2 w2
) S {x21n2 for 2<x<4, x—>2f( )

(A) In2 (B) In8 (C) Inl6 @O 4 (E) \ nonexistent

3) Hm'”)f—: ,;e_. = .e:_:e__
L}

Ay © B8 - O 1 @) e (E) nonexistent
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4) Which of the following functions are continuous for all real numbers x?

% 6\3‘3 "‘F
L y=x 11. y=ée" 1118 =tanx € has

(A) None (B) Ionly (C) Uonly DN I1&H (E) I&II
—
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5) It < a x—2 eind iff 1is contmuous atx =12, then(c
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A 0 (B) 2,5100 o 1 . M) 4 (E) nonexistent
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7 11_r)n(xcscx) s = \)Lg\o g‘—ax ‘
(A) —oo B) -1 < 0 S D), 1 (E)
x*—5x-12
g 1 - e-20-12 = - -
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Ay —o ((B)) -2 g 2 D) 1 (E) o
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. .. 3cosx—3 . \: 2 fcoex — ()¢ = 20 = O
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10) For which function below is lim f(x)=01s

i f(x)= ;x ii. f(x)=x@B%) iii. f(x)= 1 iv. f(x)= El
0g, x X

(A) iionly (B) ivonly @ii & iv only (D) allofthese (E) none ofthese

Multiple-Choice Part 2: Calculator (6 minutes)

PP — .
1) If a #0, then lim ad 7 - a4 is Q‘ 2Nt S— = \ = ‘
Ty ma Gt (™ x5 ) ar+g? 207
1 . 1 _
(A) —07 ) E—Q—{ © —6—;2— M o0 (E) nonexistent

2) The graph of the function f is shown in the figure to the right.

Which of the following statements about fis true? , ,
2 DN € Ao I
(A) lim f(x)=1lim me lim f(x) =2 N
x—a x—b " x—a 2y 7‘1:’, ‘‘‘‘‘‘‘‘ E ';;; ******
(© limf(x)=2 @) limf(x)=1 i R £
(E) lim f(x) does not exist. ¢ ‘ ’
3)  The ! um(—— ) = -0 - | = ]
e’ )
Ay 0 ®) 7 ©) o o)y -1 (E) nonexistent

Free-Response Part 1: Non-Calculator (15 minutes)

The / be the function given by f(x) =

X
Nx* -4

(a) Find the domain of /. (X -2 )( X'—\"l) 7 D . \ ( —w)rZ) 7 ( Z)(U)
Xe2,-2 2- 2
(b) Write an equation for each vertical asyrnptote to the graph of /. x X
X=A A=-A& (W“fuw@ devom. {S '

(©) Write an equation for each horizontal as ptote of the graph of f
. . . Yx? -Y .
(d)  Find the one-sided limits of /(x) as x and as x>-7, M
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